94. Trade barriers
1. Missing words

Although ______________________ trade can benefit countries in a number of ways, it also has its downsides.  For example, while ________________ imports are beneficial to ______________________, they may lead to job losses if domestic firms are unable to compete.  There is also the risk that countries may become too dependent on foreign supplies of essential commodities, such as gas and oil, which may be cut off without warning.  Governments can use a number of measures to attempt to protect individual __________________, specific industries or the entire domestic economy from the effects of imports.  These measures include tariffs,  _________________, and various other non-tariff ___________________ to trade.

Hint: words from – quotas, cheap, consumers, barriers, companies, international

2. Key terms. Which key terms are being described by the definitions below?
2.1 A group of countries that have agreed to eliminate or reduce the level of trade barriers which exist between them:








    _________________________

2.2 A physical limit on the quantity of a good that can be imported into a country: _________________________

2.3 Any measure designed to reduce the level of trade between countries:
    _________________________
3. Data response:

Study the information in the table below, then answer the questions that follow:

	Selling price of similar cars in three countries

	Country A
	Country B
	Country C

	£16,000
	£13,000
	£15,000


3.1 Based on the information available and assuming price is the main determinant of demand, from which country are customers in Country A most likely to buy their cars?

______________________________________________________________________________________

3.2 Assume that the government of Country A now imposes a 50% tariff on all car imports.  From which country are Country A consumers now likely to buy their cars? (Justify your answer):
______________________________________________________________________________________
______________________________________________________________________________________

3.3 Assume that Country A and Country C now decide to form a trading bloc, abolishing all trade barriers between each other but retaining existing tariffs with non-members.  From which country are Country A consumers now likely to buy their cars? (Justify your answer):
______________________________________________________________________________________
______________________________________________________________________________________

4. Outline two:

4.1 Arguments in support of a government imposing trade barriers: ____________________________________
______________________________________________________________________________________
______________________________________________________________________________________

4.2 Arguments against the imposition of trade barriers:
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________

94. ANSWERS – trade barriers
1. international… cheap … consumers … companies … quotas … barriers

2.1 Trading bloc

2.2 Quota

2.3 Trade barrier

3.1 Country B - the cheapest source

3.2 Country A – after the tariff is imposed, Country A’s cars remain at £11,000, but the price of Country B’s cars will rise to £18,500 and the price of Country C’s cars will rise to £22,500

3.3 Country C – after the trading bloc is established, the price of Country C’s cars falls back to £15,000 (below that of Country A).

4.1 To safeguard jobs; to protect new, young, local industries until they have grown sufficiently to benefit from economies of scale.

4.2 Leads to higher prices of imported consumer and industrial goods; reduces consumer choice; encourages inefficiency.
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